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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3T : Rt g7 % a7 7 & [ qag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

1. F=fofeg § § S9-a1 dFeEs a|
gfraied e 1 gE Fam 7@ e ?

(1) S| &1 g
(2) 991G &1 I
(3) TR & Em
(4) |ERIEGTT A |
2. ‘HamHdh gE q= H gENYH fHEA
g fa ?
(1) weRe wd b
(2) BT T G
(3) ST wd Hi®
(4) AR Td Fad
3. fafoiaq & & S-a1 UM SIRFM
A dhl & FIER FH ATl H

STl HARTH G & g BN b
S &% YA @ Emd © 7

(1) HAAATONHS SUFTH
(2) FEERAE SUH
(3) JaRTH FAPRLAHD IUTH

(4) 9g3=E U

Level-2/8102

1.

Which of the following is not the
main law of learning as prescribed
by Thorndike ?

(1) Law of Exercise
(2) Law of Effect
(3) Law of Readiness

(4) Law of Generalization

Who first
'Emotional Intelligence' ?

introduced the word

(1) Fredrick and Kirk
(2) Henry and Peter
(3) John and Cronback

(4) Mayer and Salovey

Which of the following approach is
based on analysing the behaviour of
disabled child and find out the root
cause of his/her learning deficiency ?

(1) Psychoanalytic approach
(2) Behavioural approach

(3) Individualized
approach

instructional

(4) Multisensory approach

P.T.O.



[A]

‘I AR GEd B ganeH e
R T ?

(1) FE e

(2) g0 Tio UiHeEH

(3) TEaE A9 AqHA

(4) HrEda

‘TpEEE & T A B o 7

(1) fafcEm o=
(2) Sto Ho drgE
(3) T &

(4) TEgE e

frefafag & @ &9-@1 SO
TER® T I & 7

(1) W=

(2) @
(3) TS
(4) Urcared
g% ® KK H B9 a9 i

URed, fom @ dF-9 ofawen #
feEmE 3 ey & o § 7

(1) qd srerere
(2) 999 fpamae
(3) aTEHEET

(4) 9IEA BT

Level-2/8102

[4]

. Who first introduced the concept of

"Latent Learning" ?

(1) Kurt Lewin

(2) E. L. Thorndike

(3) Edward Chace Tolman
(4) Pavlov

. Who was the main propounder of

'functionalism' ?
(1) William James
(2) J. B. Watson
(3) Clark Hull

(4) Edward Tolman

. Which of the following is example

of Innate Motive ?
(1) Award

(2) Hunger

(3) Punishment

(4) Incentives

In which stage of development, the
sexual changes that occur in the
child's body starts to appear ?

(1) Early childhood
(2) Later Adolescence
(3) Adulthood

(4) Puberty



8. FAMNGA STgIed & FF TH

T ?
(1
(2)
3)
4)
9. “GRyPFM W AT e &

e o 3 Fi9-91 g 998
R 7?

(1) 6711 a9
(2) 1282099
(3) 3¥6 T

(4) 189E §3 Y

‘TH B BT ST
‘M eI &l ST
‘TH- X ST

G’ U A ST

10. Fr=fafeg & @ @&-@1 Tae @&
T e 787 e 7

(1) Hided &l &sT=

(2) afReE P @& s

(3) Yo i THETar & R

(4) fofire 9 9w gfdfeatetl @l
HarRl F s

11. =fafeg & § ®9-a1 ‘G &
e (eR) ‘<% d| @) &
99§ ST S 8 ?

(1) FEeraR
(2) GEAMER
(3) JHRIaR

(4) TReTeed®

Level-2/8102

[5]

10.

11.

[A]
What is the other name of classical
conditioning ?
(1) Type S conditioning
(2) Type R conditioning
(3) Type S-R conditioning
(4) Type U conditioning
What is age group given by Erikson

for the stage
inferiority" ?

"industry  vs

(1) 6to 11 years

(2) 12 to 20 years

(3) 3to 6 years

(4) 18 months to 3 years

Out of the following which is not
correct principle of 'Development' ?

(1) Principle of continuity
(2) Principle of individual difference
(3) Principle of uniformity of pattern

(4) Principle of proceeding from
specific to general responses

Which of the 'thoughts of school' in
Psychology is also called as 'Black
box theory' ?

(1) Behaviourism
(2) Structuralism
(3) Functionalism

(4) Gestaltism

P.T.O.



[A]

12.

13.

14.

frefofeg & @ ®9-91 =8 9fS
W H T F& & 7

(1) GRS g
(2) HAMHS TRUeFIAT
(3) SArHIILETE

(4) FrqEsiierd

ded WG YR e T @l
AT 1 R e e w2

(D8 ¥ 12 a9 3 YH® AT ar
T & T

)4 § 8 9§ 3 TEAH AV a
it & foe

(3) 12 ¥ 15 ¥ % 9NiES QAT a
it & foe

42 q 4 99 3 OEFE AT a
& foe

fr=ifoifeg & @ -1 ‘TTsaT @l

ik & fT @87 b %A B 7

(1) e > Wl — RUE —
AT

(2) T — dwfe - wRuw —
RRZIEE]

(3) T — URuE — W —
S2INR

4) T — of@fe - d@wE —
qiRarh

Level-2/8102

[6]

12.

13.

14.

Which of the following is not the

characteristic of Good Mental

Health ?

(1) Ability to adjust
(2) Emotional Maturity
(3) Self-confidence

(4) Intolerance

Scale I in Cattell Culture Free
Intelligence Test was prepared for
whom ?

(1) For 8 to 12 years
deficient person

mental

(2) For 4 to 8 years mental deficient
person

(3) For 12 to 15 years mental

deficient person

(4) For 2 to 4 years mental deficient
person

Which of the following is the correct

logical order for 'process of creativity' ?

(1) Insight
Incubation — Verification

—  Preparation —

(2) Preparation — Insight —
Incubation — Verification

(3) Preparation — Incubation —
Insight — Verification

(4) Preparation — Insight —

Verification — Incubation



15.

16.

17.

18.

Frefafa & & @F-a1 & Fhar-ugd
I Hefd g7 e ?

(1) ergfee

(2) e

(3) &@: gew
(4) foctos

3 g W e g @ o
greell ¥ ufd W E, s fom
‘SR T I B YA HaM
frem fopar ?

(1) 2arE

(2) e s

(3) a9 Rw

4) T

frefofeg & & #9-91 m=QsS

‘e 3 faee & w9 § Aeifaee”
feremeamy & THdE FE R 7

(1) e

(2) ATE]
(3) SH

4 3o

TR & BE-dl SmEr e,
gt ST &5 & TEE fAr S
37

4

(1) s AT
(2) ST TR
(3) orclifsa A-ifas=
(4) faeprares ARfST

Level-2/8102

[7]

15.

16.

17.

18.

[A]

Which of the following terms is not
related with the operant conditioning ?

(1) Insight
(2) Reinforcement
(3) Spontaneous Recovery

(4) Extinction

Who introduces 'Learning Disable'
word very first for the children
suffered from
problems ?

(1) Heward

(2) Samuel Kirk
(3) Van Riper
(4) Birch

various learning

Which of the following Psychologist
1S not supporter of views about
"Psychology as a Science of Soul" ?

(1) Plato

(2) Aristotle
(3) Descartes
(4) Wundt

In which branch of Psychology there
is a scope of study of Telepathy,
Rebirth etc. ?

(1) Physiological Psychology
(2) Clinical Psychology

(3) Parapsychology

(4) Developmental Psychology

P.T.O.



[A]

19.

20.

21.

22,

S fEs & ogER aE s-dl
A H UREGESN B OGN @l
T i aRl B SMUR W fEr
H B AT I HE JT B 7

(1) 0F2ay

(2) 286TY

(3) 6911 a9

(4) 1181599

frfofag & @ f9-a1 Tfase a=g

% e, S, A, Toeieer s
T HHIT BXAT & 7

(1) AFgaEE Fs
(2) GSMTHE IS
(3) STEMFE HANGS
(4) eI AR

frfofag & § #9-@ aka @&
YT heEY R 787 a1 1§ ?

(1) geraa™ (2) HAHD
(3) TIHE (4) AR

S fEs % oER Wioe e
HE ‘WA A B A

e 8 7
(1) 0F5ad
(2) 13918 a9
(3) 5a8 TN
(4) 11313 a9

Level-2/8102
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19.

20.

21.

22,

According to Jean Piaget in which
stage child is able to understand
Hypothesis and getting thinking
ability on the basis
statement ?

of logical

(1) Oto 2 years
(2) 2to 6 years
(3) 6to 11 years
(4) 11 to 15 years

Which of the following Psychology

studies about man's thinking,

memory, language, perception etc. ?
(1) Humanist Psychology

(2) Cognitive Psychology

(3) Abnormal Psychology

(4) Clinical Psychology

Which of the following is not the
type of personality given by
Kretschmer ?

(1) Athletic
(3) Asthenic

(2) Aesthetic
(4) Pyknic
What is the age group for the moral

development stage "Heteronomy
Reciprocity" given by Jean Piaget ?

(1) Oto 5 years
(2) 13 to 18 years
(3) 5to 8 years
(4) 11 to 13 years



23.

24.

25.

26.

freifofeg & @ @F-a1 ofrm orem
TRl T 0T FE T’ 7

(1) TcefeBToT FHIear

(2) wiaffe ST

(3) AFERYT Hau™

(4) Smafia

THR AR Hedl ard Sl Hl s
qfeer ) el & ?

(1) 509 60

(2) 36951

(3) 20 ¥ 35

(4) 209 S

e @t d9-d ofaenm ¥ w@uM

Rl & 9 sf/fEar fJera gt
g7

(1) 129 14 99

(2) 159 18 a9
(3) 10@ 12 9
(4) 19921 a9

frefefeg & @ -1 gl
foe @1 g FEF R ?

(1) ARER o=

(2) g ferc

(3) STAETES

4) @A fomae

Level-2/8102

[9]

23.

24.

25.

26.

[A]

Which of the following is not the
characteristic of Learning Disabled
Children ?

(1) Perceptual effectiveness
(2) Emotional instability
(3) Disorder of attention

(4) Impulsivity

What is the 1.Q. Range of severe
mental retarded child ?

(1) 50 to 60
(2) 36051
(3) 20 to 35
(4) below 20

In which stage of development,
interest/friendship develops towards
same sexual groups ?

(1) 12to 14 years
(2) 15to 18 years
(3) 10to 12 years
(4) 19to 21 years

Which of the following is not the
type of Realistic thinking ?

(1) Convergent thinking
(2) Creative thinking
(3) Evaluative thinking

(4) Autistic thinking

P.T.O.



[A]

27.

28.

29.

30.

frefefeg & @ $9-A1 F=AsS
‘GeaaE TGET B GHGE T8
g7

(1) hrae
(2) B
(3) et
(4) TR HrE

‘GEEERE’ & Yade B 7

(1) faferam Si=q
(2) foferm 9w
(3) fawen gue
(4) faew g

=i & @ d9-a1 a@ STRmRen
o’ O Gefed 7R ?

(1) STasahdr

(2) TR

(3) Ha

(4) e

‘I H HAT fhE g U9 @ ST
g R ?

(1) gfcepsor

(2) ggn

(3) ST

(4) Getra

[10]

27.

28.

29.

30.

Out of the following which
psychologist was not supporter of
'Humanist Psychology' ?

(1) Freud

(2) Maslow

(3) Rogers

(4) Arthur Combs

Who the
'structuralism' ?

(1) William James
(2) William West
(3) Wilhelm Wundt
(4) Wilhelm Hunt

was propounder  of

Which of the following component
is not related with the 'Motivation
Cycle' ?

(1) Need
(2) Drive
(3) Emotion

(4) Incentive

The 'emotion of fear' associated with
which basic instinct ?

(1) Repulsion
(2) Pugnacity
(3) Appeal
(4) Escape

Level-2/8102



[A]

AW -1l / PART - I
A7 (5=} wd i) / LANGUAGES (HINDI & ENGLISH)
[ &Y/ HINDI ]
e : =& 7971 % G 37 % [ qaq SfEd ey g
31. %9 a7 | deugEs AT H TAN 35. 77 w9 fawe g -
g ? (1) R B R asi = geas
(1) T ST Al 2 (2) T & A = g
(2) ST TET F A WA B (3) TE & R QT = TS
(3) T TG 4 =W @ (4) T & R qUSY = FwEvey
(4) Hies STTehe SoTET Sadl 2
36. TeTg BRAT 78T ©
32. ‘% W YR UE TE © (1) s
(1) fourgs R
(2) TH (3) g
) Fre= (4) TIferrT
(4) ST
o 37. qUI=ERCT & gfte |} §F7 T
33. ford fomca § Fre gieair o= B 7 0 i o - 2
(1) g @ 7 % - =i
2) fred 3) T, & - ag
(3) WX
@ B 4) 3, g - gt
s 38. o9 faeheq § ‘o1 SUERT &1 YGNT 78T

e R @ e @ gy faeed
gﬁﬂ'\f:

(1) ARt = A1 &% Qi

(2) MR = T (af) & dR

(3) geaem = gfeal & fow o™

(4) Siigear = Sl ) 41

Level-2/8102

g ® 7

(1) sTgEr
(2) ST
(3) IR
(4) Sgamte

P.T.O.
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39. ARii 3 § o7ger IE YT ¢ 43. i foeBT @ e q org7T gT ¢
(1) feR9= (1) B + 35 = Firg
(2) FASTHREST 2) gft + 3= = gi=
(3) et (3) AR + 3= = apefie
(4) Toumat (4) T+ 30 = WHIA
40. AMLEFATEH FAAH e AR GO 44. ‘TEA WRA & U AW 817
() ¥ 45 g& @ & 3= g @ A 5 g B ®
Il (1) IRomedes foparm
(2) ¥ § B FA B (2) wigH e
(3) @A el TR Ul BT Hebell (3) % B
g
! (4) foramdes ©sm
(4) 98 =med & % A Haa o TBN
45. TOT B 9 o7 e :
41, g IuHI-IRT wE g = ™
i (1) 8F + 3Nl = el
(D
(2) Y + b = A
(2) @& o .
(3) 99 + Sfdr = qarar
(3) &9 . .
(4) 9T + TG = HIE
(4) Greq
42. T8 w5 # @S @iy B g el
g7
(1) arfisax
(2) e
(3) STt
(4) goitqET

Level-2/8102



46.

47.

48.

[13] [A]
[ S135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of the sentence 50. Choose the correct tense form :
which is incorrect : _
His newfilm is really worth Nanny died last wegk. She .........
a b o from cancer for some time. (suffer)
to be seen. (1) suffering
d
(1) a @) b (2) is suffering
(3) ¢ “4) d (3) had been suffering
Select the appropriate modal for the (4) suffers
expression given :
When ... we expect you ? 51. Select the appropriate modal for the
(possibility) expression given :
(1) may (2) will If you do that again you ........ be
(3) have to (4) dare punished. (threat)
Select the correct option (phrasal (1) may
verb) for the underlined word : (2) shall
Most of the patients respect Dr. John
. (3) can
for his kindness.
(1) payback  (2) zest for (4) ought
(3) make over  (4) look up to 52. Choose the correct option for the

49.

Choose the correct meaning of the
underlined words :

The baby monkeys ran every which
way.

(1) up
(2) straight
(3) in different directions

(4) down

Level-2/8102

following :

An  instrument for

earthquakes 1s :

detecting

(1) A Fathometer
(2) Lithoscope

(3) A Seismograph
(4) Cardiograph

P.T.O.
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53.

54.

55.

56.

Choose the correct meaning of the
underlined words :

It's a pity you don’t like football. But
each to their own.

(1) everyone has different opinions
(2) everyone has similar opinions
(3) each and all are same

(4) each one likes football

Choose the correct option to fill the
blank :

Immediately after the operation he
could see nothing vague
shadows.

(1) aslong as

(2) however

(3) but

(4) notwithstanding

Select the correct option (phrasal
verb) for the underlined word :

I don't know how we are going to
cope with the cold during winters.

(1) make up for

(2) put up with

(3) put down

(4) setup

Select appropriate preposition to fill
in the blank :

They walked the footpath
until they came to a bridge.

(1) into

(2) since

(3) along (4) in

[14]

57.

58.

59.

60.

Choose the correct tense form :

My car ........ for the third time since
I got it. (break down)

(1) break down
(2) has broken down
(3) was broke down

(4) has broken

Choose the part of the sentence
which is incorrect :

James is busy to prepare
a b C
tonight's dinner.
d
(1) a 2) b
3) ¢ 4) d

Choose the correct option to fill the
blank :

The room was empty ....... for a chair
in the corner.

(1) except
(2) and
(3) between

(4) behind

Select appropriate preposition to fill
in the blank :

The programme was broadcasted ......
the world.

(1) in
(3) onto

(2) off
(4) across

Level-2/8102
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[A]

HET -1/ PART -1l
qH 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Ur" a@feE P, Q, R, S 8k TH, T, R
AR S | 8ler 31 Q, T R @
T g, ATk @fm § T 8 R
T AT F Bl 21 38§ B g9l
T R 7
() R

3) S

2) Q
4) P

Fﬁ?ﬁ@ﬁZ:3:4%3ﬂqﬁﬁ%I
ST T & AN 33957 &, O gEn
g

(1) 14,21, 28

() 12,18, 24

(3) 8,12, 16

“4) 4,6,8

A X &M@ e B, Y & A6 31 X
AN Z A s&9 Y 23 = & @

HF-9T HIT SMEEH &4 q T9 78
g7

(1) B, Z %! ¥ 2
(2) X, Z % 97
(3) B, A% T
@) Y, A® T B

Level-2/8102

61.

62.

63.

Among five persons P, Q, R, S and
T, T is shorter than R and S. Q is not

as tall as T but taller than one

person. R is shorter than one person.
Who among them is the tallest ?

(1) R 2) Q
3) S 4) P

Three numbers are in the ratio 2 : 3 : 4.
The sum of their cubes is 33957,
then the numbers are :

(1) 14,21, 28
2) 12, 18,24
3) 8,12, 16
@) 4,6,8

A 1is father of X; B is mother of Y.
The sister of X and Z is Y. Which of
the
necessarily not true ?

following statement s

(1) B is the mother of Z.
(2) X is the sister of Z.
(3) B is the wife of A.
(4) Y is the son of A.

P.T.O.



[A]

64.

65.

66.

T AR @ B AR 1 Ee g
R qe afeer e 4 gex 5 Al
For &1 Y a8 qd Rem d gt 2
ol =rern 8, 3E% 9% g8 SR R
g ek 9 fdl =@ 21 oW a8
gRfe farg & el QX @81 & 7

(1) 4 fpt
(2) 5 et
(3) 7 it
(4) 9 et

G e e | = O L ol s e L

DHL, PTX, BFYJ, .....
(1) CGK
(2) KOS
(3) NRV
4) OVZ

12 969 TF ®E & T & F 18
R qa ¥ wafs 12 et ot &9 3

%ﬂmaﬁmhﬁﬁgﬂhﬂ‘cﬁ%w@

FE & 10 go o 8 ferar wng-am
FA FXA g e R 7 qor B ?

(1) 6

1
@ 7

1
3 13-

4) 14

Level-2/8102
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64.

65.

66.

A person walks 1 km towards East
and then he turns to South and walks
Skm. Again he turns to East and
walks 2 km, after this he turns to
North and walks 9 km. Now, how far
is he from his starting point ?

(1) 4km
(2) 5km
(3) 7km
4) 9km

Find the next term of the following
letter series :

DHL, PTX, BFJ,
(1) CGK
(2) KOS
(3) NRV
4) OVZ

12 men take 18 days to complete a
job whereas 12 women in 18 days

can complete 3 part of the same job.

How many days will 10 men and 8
women together take to complete the
same job ?

(1) 6

1
@ 7

1
3) 132

4) 14



67.

68.

69.

70.

Teh el &l Bedl & gl 81 W 3%
HAETH § foba widd gl i ?

(1) 200%
(3) 550%
T AR T aeg &l % 24 | 9=l ©

SR INE R I K R RRS IS K|
FAC &, A a& B A IA 8 -

(2) 450%
(4) 700%

(1) %15
(3) 18
15 fkE & T 998 §, 7 R

Ted ¥, 8 ofdeh ved ¥ ol 3 @i o
qaw & ged 31 fhan @l R

2) T 17
4) T 20

AR ol At Ted ¥ 7
(1) 0 2) 3
(3) 4 @ 5

a p M ¢ AT demd ¥
3+\/§=p+C]\/§, ar p T g ®

3-4/5
99 g :
M p=2q=3
@ p=tig=2
® p=tia=3
@ p=rig=2
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67.

68.

69.

70.

[A]

The radius of a sphere is doubled.
What percent of its volume is
increased ?

(1) 200%
(3) 550%

(2) 450%
(4) 700%
A dealer sells an article for ¥ 24 and

gains as much percent as the price of
the article, then the cost price of the

article is :
(1) % 15 2) %17
3) %18 “4) %20

In a group of 15 people, 7 read
Hindi, 8 read English and 3 read
none of these language. How many
people read Hindi and English both ?

(1) 0 2) 3
(3) 4 4) 5
If p and ¢ are rational numbers and
3+4/5
=p+ \/g then value of
3_ \/g pPTq p
and g are :
2 3
1 —Z.g=2
(D p= 54=5
7 2
o) —Ll.g=Z
2) p= 5 4=7
7 3
3 =—;q=—
3) p= 2 4=
7 7
4 =—;q=—
4 p= 7 4=5

P.T.O.



[A]

71.

72.

73.

74.

A% uh FMiRed T # 3% TiEy @
W #@ A I H@ THIE AN
101,50 &, @ S A H oG
g % O OX 17 fohaer e ?

(1) T50 (2) T 100
(3) T 125 (4) T 147

F=T aof 9ot § g e S i ¢

A, CD, GHL ?, UVWXY
(1) LMNO

(2) MNO

(3) MNOP

(4) NOPQ

Th TGS H Th BT 108° qU AW
A= BT gUEK 21 AN SEY Hen |

T H T 3T B -
(1) 63° (2) 74°
(3) 84° (4) 96°

AR, s & ufvem § 2 o gha
% I A B T, g & W
R B qEV, A & wed @
Remd & ?

(1) ITR-Uf=Tq
(2) aRroT
(3) aferor-gd

(4) I

I
fra
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71.

72.

73.

74.

If the compound interest on a certain
sum for two years at 3% p.a. be
2 101.50, then what would be the
simple interest on the same sum for
same period ?

(1) 50
(3) T 125

(2) T 100
(4) T 147

Find the missing term of the

following letter series :
A, CD, GHL ?, UVWXY
(1) LMNO
(2) MNO
(3) MNOP
(4) NOPQ
One angle of a quadrilateral is 108°

and the remaining three angles are
equal. Find each of the three equal

angles :
(1) 63° (2) 74°
(3) 84° 4) 96°

Amit is west to Prakash and North to
Sumit. Tarun is in East of Sumit.
Tarun is in which direction with
reference to Amit ?

(1) North-West
(2) South
(3) South-East

(4) North



75.

76.

77.

78.

g DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, @ CAR =?

(13 (2) 6
(3) 8 “4) 16

T 9o H 77 | ST i -

69, 55,26, 13,5
(1) 5
) 13
(3) 26
(4) 55

Iy 2=4"=%¢
1 1 1
bt —=4, Wx WA
2x 4y 4z

a

(D) "
(2) .

7
6
7
7
7
3) —
()9

1

7
23

80 fl amm # wh IEWE TEH 60
fpdt, 40 fobr ufey ger qer 9w g 20
feft ofr der &t i | I 51 e
=T P SN 9 R

(1) 24 Tt U ge
(2) 30 fepet fer g
(3) 32 fopeft gty der
(4) 36 Tt fer g

“4)
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75.

76.

77.

78.

[A]

If DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, then CAR = ?
1) 3 ) 6
3) 8 4) 16

Find the wrong number in the
following series :

69, 55, 26, 13,5

(1) 5

(2) 13

(3) 26

4) 55

If 2'=4"=8 and i+i+i=4,
2x 4y 4z
then the value of x is :
7
(1) 16
7
17
7
19
7
23

(2)

3)

(4)

In a journey of 80 kms a train covers the
first 60 kms at 40 km/hr. and the
remaining distance at 20 km/hr. The
average speed for the whole journey is :

(1) 24 km/hr.
(2) 30 km/hr.
(3) 32 km/hr.
(4) 36 km/hr.

P.T.O.



[A]

79.

80.

81.

30 HI T U $ Th R W g
B TS 0.80 H U gE@ R W
24 H B WO B TG S AR
FHEEY PlE TRDT P ST ©

(1) 48 %
) 728
3) 156 %
4) 192 %7
Th Ued H AN ¥ BR 9 164
WM W gl 3 [9%d I@ 8 ¥
183 =M W B MU e | e
M 113 = W %, X faww 9

Tl B @ oY die} &M W 31 39
et & fepe afeT @S g B !

(1) 41
(3) 48
frfafeqd § ¥ &we (HAFED) &
TR H - FER ?

(i) I PN IAE F GIE B o
(ii) I8 P IURS H 9O HIT o
(iii) 78 F TR H i B ol
7& HE F TIT BN :

(1) () 3 Gi)

(2) % (i)

(3) (i) 3R (i)

(4) (i), (ii) 3R (i)

(2) 42
(4) 49
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79.

80.

81.

A swimming pool, 30 m long has a
depth of water 0.80 m at one end and
2.4 m at the other end. The area of
the vertical cross-section of the pool
along the length is :

(1) 48 m’

2) 72m’

(3) 156 m’

4) 192 m’

Anil is standing at 16th position
from the left end in a row. Vikas is at
18th position from the right end.
Gopal is 11th from Anil towards the
right and 3rd from Vikas towards the

right end. How many persons are
standing in this row ?

(1) 41 (2) 42

(3) 48 4) 49

Which of the following are true
about the functions of HAFED ?

(1) It procures agriculture products.
(i1) It markets agriculture products.
(ii1) It supplies agriculture inputs.
Choose the correct code :

(1) (1) and (ii)

(2) only (i)

(3) (i) and (iii)

(4) (1), (1) and (iii)



82.

83.

84.

85.

86.

R & #@ TR-a i e
ST @R ?

() g (2) |re

3) TFETR  (4) BT

‘TR Qe Gl H LHAC BRI &
fFA e A A R ?

(1) BER (2) B

(3) Ved® (4) ST

‘TR TR STEEH!’ ® Ty ®
(1) Sfo FHYT o
(2) &t A7 A
(3) Sfo M A
(4) =t oM A

B o & SR H Freifehd dee

T fee=R $ifT

(1) aRamT & ga A B onE
AR 9 O H WEg wiie]
gl

(3) a8 g= qaO1 H=d A HA Al
Tl Al 2

78 I A

(1) F& (&) T&I 3

(2) F49 (9) & B

3) (31) o} () A et &

4) (37) oiR (3) -t @&

I WA SfE A AteY sraRed

g

(1) site 8§

(3) | F

(2) orSrar ®
(4) Foee |
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82.

83.

84.

85.

86.

[A]

Where in Haryana 'City-forest' is
being developed ?
(1) Murthal (2) Sohna

(3) Yamunanagar (4) Hansi

'Air Shuttle Service' has been started
from which city of Haryana ?

(1) Hisar (2) Karnal

(3) Rohtak (4) Ambala

The President of 'Haryana Sahitya

Academy' is :

(1) Dr. Kumud Bansal
(2) Sh. Manohar Lal
(3) Dr. Ashok Batra
(4) Sh. Rana Oberoi

Consider the following statements

about Minty Agarwal :
(a) Minty Agarwal, a native of
Haryana, is a Squadron Leader

in Indian Air Force.

(b) She is the first woman, who
received Yudha Seva Medal.

Choose the correct answer :
(1) Statement (a) is true

(2) Statement (b) is true

(3) Both (a) and (b) are false
(4) Both (a) and (b) are true

Ancient Bhawani Amba Mata temple
1s situated in :

(1) Jind
(3) Sonipat

(2) Ambala
(4) Kurukshetra

P.T.O.



[A]

87

88.

89.

90.

. SMEd 2020 #, ordifeied ® 9
HI-G TRUMGTH B TR IRE &
WY X HHG A 4 7

(1) =
3) I

(2) 3SR
4) fad

1857 % fdRIe & €HY FooRK & a9
B o ?

(1) TGN @
(2) Tard THGE
(3) TEHE

(4) faEra ol

AE & AW ARG & g e
I fafed 2

(1) St foret #
(2) IR B |
(3) HHae o H
(4) doa B ¥

e B § 8 aml Akdl @l
RECIEOEE

(i) g (i) e

(iii) FHEE (iv) F=_

7l T B TIA BT

(1) (i) & (i)

(2) (i) 3 (i)

3) (@, (iii) AR (iv)

@) (@), (i), (ii) R (iv)

[22]

87.

88.

89.

90.

In January 2020, which of the
following Nagar Palika was raised to

the status of Nagar Parishad
(Municipal Council) ?

(1) Rania (2) Jhajjar

(3) Beri (4) Sirsi

Who was the Nawab of Jhajjar
during the uprising of 1857 ?

(1) Abd-ur Rahman Khan
(2) Nawab Shamsuddin
(3) Sadruddin

(4) Bisarat Ali

The original founding place of

Topara Inscription of Ashoka is
located in :

(1) Ambala district

(2) Yamunanagar district
(3) Kurukshetra district
(4) Kaithal district

Identify the rivers, which flows from
Mahendragarh district :

(1) Ambumati (i1) Dohan
(i11) Kasavati (iv) Indori
Choose the correct code :
(1) (1) and (iii)

(2) (i1) and (iii)

(3) (1), (iii) and (iv)

4) (1), (1), (iii) and (iv)

Level-2/8102



[23]

[A]

AT - IV / PART - IV

3T / ENGLISH

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

Fill in the blank with the correct
option :

I applied for the job in Japan, but
they ........... my application because
I did'nt know Japanese.

(1) turned down
(2) turned out
(3) turned in

(4) turned on

Fill in the blank with the correct
modal :

Children

parents.
(1) should
(2) can
(3) shall
(4) will

obey their
(Duty / Obligation)

Fill in the blank with the correct
preposition :

Thieves broke ............ my house.
(1) into

(2) under

(3) at

(4) over

Level-2/8102

94.

95.

96.

Fill in the blank with the correct

present perfect tense :

the instructions,

but I don't understand them.
(1) had reading

(2) have read

(3) have been read

(4) read

Fill in the blank with appropriate

modal :

not enter my house

again. (Command)
(1) should

(2) might

(3) can

(4) shall

Identify the correct dipthong in the

underlined words :

boy, coy
(1) lall
2) lell
3) 1211
4 llal

P.T.O.



[A]

97. Identify the phonetic symbol of the

underlined sounds :

Sheep, Shine, Trash
() 11
2) 3|
3) 121

@) 1|

98. Identify the grammatically correct

sentence :

(1) John is resembling his older sister.
(2) John resembles his older sister.
(3) John resembles his senior sister.

(4) John has resembling his sister.

99. Who is the author of, "A Different

Kind of School" ?
(1) Carol Moore

(2) E. V. Lucas

(3) Hary Behn

(4) A Japanese Story

100. Fill in the blank with the correct
option :
It rained .............. three days

without stopping.
(1) during

(2) for

(3) at

(4) while

Level-2/8102
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Direction Read the following poem
and answer the questions given below
(Q. Nos. 101-106) :

The poetry of earth is never dead :
When all the birds are faint with the hot sun,
And hide in cooling trees, a voice will run

From hedge to hedge about the new-mown
mead,

That is the grasshopper's — he takes the lead
In summer luxury — he has never done
With his delights, for when tired out with fun
He rests at ease beneath some pleasant weed.
The poetry of earth is ceasing never :

On a lone winter evening when the frost

Has wrought a silence, from the stove there
shrills

The Cricket's song, in warmth increasing ever,
And seems to one in drowsiness half lost ;

The Grasshopper's among some grassy hills.

101. What kind of sonnet is the above
mentioned poem ?
(1) Shakespearean
(2) Petrarchan
(3) Horatian
(4) Pindaric
102. Who provides the music in the

"Winter Evening" ?
(1) The Grassy Hills
(2) The Trees

(3) The Cricket

(4) The Grasshopper



103.

104.

105.

106.

107.

Which season does the Grasshopper
symbolise in the poem ?

(1) Summer
(2) Winter
(3) Autumn
(4) Spring

The birds in the poem 'take rest',
because of :

(1) Hunger

(2) The music

(3) The cool breeze
(4) The hot sun

The word,
means :

"Faint" in the poem

(1) Lacking strength
(2) Having vigour
(3) Beauty

(4) Refreshed

"A voice will run from hedge to
........ " whose voice is this ?
(1) The Grasshopper

(2) The Cricket

(3) The Gnats

(4) The Poet

Which of the following is not a
synonym of the word 'Lethargic' ?

(1) Sluggish (2) Lazy
(3) Agile (4) Torpid

Level-2/8102
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108.

109.

110.

111.

[A]

Identify the phonetic symbol of the
underlined sounds :

Cheers, March, Chair
(1) 11
2) 1T
(3) 131

(4) lch |

Which of the following is not a
Collective Noun ?

(1) Fleet

(2) Crowd
(3) Family
(4) Judgement

Identify the correct sentence pattern
of the given sentence :

They painted the door green.
() S+vVv+0+0
2)S+VvV+0+C
B3)S+0+V+C
4 S+vV+C+0

What did Patrick think his cat was
'playing with' ?

(1) A Doll

(2) A Horse

(3) A Card

(4) A Trumpet

P.T.O.



[A]

112.

113.

114.

115.

Put the verb in the correct form :

Ryaan is very good at languages. He
.............. four languages very well.

(1) speaking
(2) speaks
(3) speak
(4) spoken

Fill in the blank with the correct
preposition :

doing the cleaning, I
help my mother in cooking.

(1) Beside

(2) For

(3) Besides

(4) By

Which of the following is spelt
incorrectly ?

(1) Environment
(2) Psychology

(3) Curricullum
(4) Education

Transform the following into a

negative sentence :

He is greater than me.

(1) ITam not so great as him.
(2) ITam not great.

(3) He is more great than me.

(4) He is not great.

Level-2/8102
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116.

117.

118.

119.

Identify the figure of speech in the
following lines :

"The fair breeze blew, the white
foam flew

The furrow followed free"
(1) Alliteration

(2) Simile

(3) Metaphor

(4) Pun

Fill in the blank with the correct
option :

a little money
for rainy days.

(1) put back
(3) put aside

(2) put down
(4) put off

Which of the following is spelt
correctly ?

(1) Succeession
(2) Sucession
(3) Succession

(4) Succeesion

Messengers were sent everywhere in
the kingdom by the king in the story,
"Three Questions" :

(1) To find answers to the questions
(2) To fetch wise men
(3) To look for the wise hermit

(4) To announce a reward for those
who could answer the questions



[27] [A]

120. Identify the part of speech of the 124. Fill in the blank with the correct
underlined word : conjunction :
He takes after his grandmother. The girls danced ................... the
(1) Preposition boys played.
(2) Verb (1) only
(3) Adverb (2) without
(4) Adjectlve (3) while

121. Identify the underlined phrase in the (4) lest

sentence below :
125. Which of the following word is

incorrectly formed in plural ?

(1) Thieves

He answered in a very rude manner.

(1) Noun phrase
(2) Adverb phrase

(3) Adjective phrase (2) Cargoes

(4) Prepositional phrase (3) Matches

(4) Calfes
122. How does camel survive in a desert
without drinking water ? 126. Who is the poet of the poem titled,
(1) By the hump on its back "Trees" ?
(2) From desert plants (1) Shirley Bauer
(3) By eating other animals (2) John Keats
(4) Because of their long shaggy (3) William Shakespeare

coats (4) Arun Kolatkar

123. Who is a Rebel ? )
127. 'l took out a small black tin box.'

(1) A~ person  who resists an The underlined phrase is :

(1) Adverb phrase

established authority

(2) A person who is obedient

(3) A person who agrees to do what (2) Adjective phrase

others say (3) Noun phrase

(4) A person widely popular (4) Gerundial phrase

Level-2/8102 P.T.O.



[A]

128.

129.

130.

131.

The poem, "The School

written by :

(1) Boris Johnson

(2) William Dalrymple
(3) William Wordsworth
(4) William Blake

Boy" is

A fictitious narrative, intended to
enforce some useful truth, usually

with animals as characters is called :
(1) A Fable

(2) A Sonnet

(3) A Lyric

(4) A Story

Who is Bijju calling in the mist in

the story "A Short Monsoon Diary" ?
(1) His sister

(2) His uncle

(3) The author

(4) His brother

With whom did the man, strike the
bargain in the end, in the poem, "The

Last Bargain" ?
(1) Achild

(2) An old man
(3) Aking

(4) Fair maid

Level-2/8102
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132.

133.

134.

135.

"I got up early, for me I made an
effort."
For what did the writer say this ?

(1) For catching a train
(2) For a long bicycle ride
(3) For a trip to Bahamas

(4) For morning exercises

Identify the underlined word in the

sentence :

The old man was tired of walking.
(1) Gerund (2) Participle

(3) Infinitive (4) Noun

Fill in the blank with the correct

word :

Why didn't you turn up at the party ?

We were all waiting for

you.
(1) densely
(2) perfectly
(3) nearly
(4) eagerly

The antonym of the word "Popular’ is :
(I) Anonymous

(2) Famous

(3) Well-known

(4) Widely Admired



136.

137.

138.

139.

140.

Which of the following is not an
Abstract Noun ?

(1) Goodness
(3) Poverty

(2) Youth

(4) Parliament

'Miss Beam' is a character of which
story ?

(1) A House, a Home

(2) A Game of Chance

(3) A Different Kind of School
(4) The Banyan Tree

Who is the speaker in the poem,
"The Shed" ?

(1) The Poet
(2) A Wise man
(3) The Brother
(4) The Spider

Choose the sentence which is
grammatically correct :

(1) What you would like to drink ?
(2) What would you like to drink ?
(3) Would you what like to drink ?

(4) Would you drink like to ?

Fill in the blank with the correct
article :

............. tallest boy in the class has
grey hair.

(L A

(2) An

(3) The

(4) Zero article

Level-2/8102
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141.

142.

143.

[A]

Convert the following positive
sentence into comparative sentence :

Few historians write as interestingly
as Habib.

(1) Habib writes more interestingly
than most historians

(2) Habib writes very interestingly
than more historians

(3) Habib writes the most
interestingly than more historians

(4) Habib writes interestingly than
most historians

The correct antonym of the word
"Grow" 18 ....ooiiiiiinnin.

(I) Long (2) Cut
(3) Sober (4) Disturbance

Match the words in Column A with
their meaning in Column B and
select the correct answer using codes
given below :

A B
(a) Moved suddenly

(b) Brave enough to
do something

(1) Fierce
(i1) Darted

(iii)Dared  (c) A steep, high
rock
(iv) Cliff (d) Violent
Codes :
®H @G @y aGv)
1 @ @ b (©
@2 ® @ @ ©
G @ b © @
@ © b @ @
P.T.O.



[A]

144.

145.

146.

147.

Fill in the blank with the correct
phrasal verb :

A fund has been
soldier's families.

for the

(1) setup
(2) set aside
(3) setout
(4) setin

Fill in the blank with the correct
option :

breakfast.
(1) afew
(2) fourth
(3) each

(4) an

biscuits for my

The word 'Morsels' in the story "The
Banyan Tree" means :

(1) Small pieces of food
(2) Watch secretly

(3) Going deep into

(4) Dislike

Identify the wunderlined part of
speech in the following sentence :

He came before the appointed time.
(1) Adverb

(2) Conjunction

(3) Noun

(4) Preposition

[30]

148.

149.

150.

Match the words in Column A with
their meaning in Column B and
select the correct answer using codes
given below :

A B
(i) Scrawny (a) Strange
(i1)) Weird (b) Moved along
smoothly

(111) Glided (c) Short sleep
(iv) Snooze  (d) Thin
Codes :

®» @G @y aGv)
O @ @ b  (©
@2 @ o © @
3 ® © @& @
@ @ © b (@

Fill in the blank with the correct
determiner :

Who is ...l girl sitting
there ?

(1) a (2) an

(3) those (4) the

Where do the snakes and rodents
take shelter in the story, "A Short
Monsoon Diary" ?

(1) In Roofs and Attics

(2) In Holes and Burrows

(3) On Roads and Pavements
(4) In Sea and Grass
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U b SR, SR Uoh § uiRd @Ml @1 Pl il 6. Answers to questions in answer sheet are to be given by
wge 9 9 AT 2, orr T S fexamar w2 darkening complete circle using Black ball point pen as

shown below :

® ® @ O @ B ®
(SRRl
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i3 o | SUET WHl $ WR T & Al TSI AR Terd If you fill more than one circle it will be treated as a wrong
HET ST | answer.
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11. U=

12.

13.

14.

15.

16.
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18.

19.

20.
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provided in the Question Booklet for the same.)

. T IR Bacl OMR TR T3d WR 8l 3ifdhd P | 30 IR LIHYdd 3Afhd B | IR G 2g 29d Joid (Ahe Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. UAE T & fore Ry T g Rwedt # 9 3Ifaa fawer & fow OMR STR 956 W &de Uh gd &I & T RE Blof ard

wEge U9 9 W | U6 IR SR Afhd F9 & 915 99 gl 78l ol AhdTl ¥ 1 (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gad o {6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M 7 M | 3pgedi 301 IghHld SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT Td IR TS BT SAFYED JANT By, Fifd & aRRefT # (se—gRaer wd SR v9@ & HAie 3 e
o1 Rafq &1 Breaw) E;\Hﬂ U Eﬁ?ﬁﬂ e SUALT T8l FHRATS SITgT | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

W—W/W CEC fev U HHIG BT et TE TN I sFER de H ford | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

ameﬁaﬁqﬁmgm/amﬁmwsﬁ?mﬁqaa§aﬁrﬁaﬁﬁﬂﬁwaﬁm |Jrl, gfad A1 sRforiad BrTSl Bl
Ufedf, SR, AaIgd WF, Sdgiie UG I B 3 UBR B GEEH DI of S AT STAN HRA DI AT T8I © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TIed gRT I8 oM W UAd gl 30T Y%l & (I o) 3R Ugamd U= =i | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT wded B A SH‘T% P 77 DI el QAT I 7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PIRIRT YAAETH BT YOI STR UAP (U a1 v BeeR a1 WR IIART SRIER by {41 angedl uller sfe el uisi | afe
PRl ongefl 7 g AR BRMER 91 W BWER T8l by 1 I8 AF1 oMQ b I SR UAG T8l Al § AR I8
JfAd | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat gmr 9 w19 & o &1 feme
wrrmméligwmﬁsmmwwmmmﬁwmﬁswﬁﬂﬁmmﬁammmhmaﬁ
AT T A g8d 8 g 7 8 §gd | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagih / BTalferd URded & SUANT affd 8 | (Use of Electronic/Manual Calculator is prohibited.)

e 8T § SR & oy, sngefi fGarfrer § & v uftar /Ry g ars & @ el v fafaEr o ey eam v |
g WREl & W AWl @ BEen dis & Ml Ud fafRmi & SR BN (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W w9
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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